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1. (50%) Block A has a mass of 30 kg and block B has a mass of 10 kg. Neglect friction. Determine
(a) the acceleration of the block A and (b) the acceleration of block B relative to A.
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2. (50%) A small block initially slides from A to B at a speed of v = 4 m/s on a horizontal surface
at a height of h = 10 m above the ground. Determine (a) the angle 6 at which it will leave the
cylinder surface BCD, and (b) the speed of the small block when it hits the ground at E. Neglect

friction and air resistance.
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